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Status

・ Run with removing the TPC section

・ Run with removing the TPC section + 
setting all of material budget to be 0 

I aware that I forgot to set the 
forward detector’s budget … 

-- setting parameters for the TPC as 0 ,  as well as material of the TPC wall = 0 
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1.  Removing TPC

-- Transverse impact parameter resolution --

q = 20°
q = 85°

data points with the original geometry 
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-- Momentum resolution --

1.  Removing TPC

q = 20°
q = 85°
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2.  Removing TPC + Setting all of material budget = 0

-- Transverse impact parameter resolution --

q = 20°
q = 85°
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2.  Removing TPC + Setting all of material budget = 0

-- Momentum resolution --

q = 20°
q = 85°
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